Pre-Calculus Calculator Trig Review Worksheet W
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Find each value. Round off to 4 decimal places radian
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Find each angle 0, in standard position, correct to the nearest minute where 0° <8 < 90°.
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Find each angle 0, in standard position, correct to the nearest mlnute where 0°<6 <360, ,
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In problems 8 and 9, solve each triangle. Round angles to the nearest minute and sides to the nearest tenth.
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In problems H=12;-s denotes the length of the arc of a circle of radius » subtended by the central angle 6.
Find the missing quantity. Round answers to three decimal places.
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In problems 13-14, 4 denotes the area of the sector of a circle of radius r formed by the central angle 4.
Find the missing quantity. Round answers to three decimal places.
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1445 Find the length of the arc subtended by a central angle of 135° on a circle of radius 4 meters. What is
the area of the sector?
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1516 A neighborhood carnival has a merry-go-round whose radius is 25 feet. If the time for one

revolution is 30 seconds, how fast is the merry-go-round going® 1n mp h 4
ﬁ 1

C= EoiT Fie

s | eor.  LOw lg0000 T !
\ rf"J- GO+t \ WA L . &303& . = M\ﬁ“ = L___} — 8 (O"“P\'\"
e e e~ k) e [SY YO hre )
20 Sec | vev  Bagiid |

17} AThe fradiys offgach wheel,of a car.is 16 inches. Atw any tevolutions per miiute S’lloul ba spi
L(W{) %ﬂ%% ti iszj la/smeec;/t?&fz/ l‘p exgrejryébpr_? Is'the sétting iffér pyt%f“d ’
el | '

"radius 14 inches? | 50, what is thié s ing





